T

=
<
I

1/N,, 1/21p_ do/dndp
|_\
(@)

[EEY

Ratio to ATLAS

0.5

7000 GeV pp Soft QCD
é— I L | I I I I I L | I I I éﬂ
= 3 <
C Charged Particle sl Spectrum(NCh >6,p_>05Gev) %
= ==

N~
= Hal
— =
= =o
— |
— :‘_!
= b
= =R
= ;Dﬁ
= =
— =1%)
— —1 M
= =3
= o

o
E =m
= =
. m ATLAS 2
= —&— Pythia 8.308 default =
=- - - Pythia 8.308 default-CD =5
— ---&-- Pythia 8.308 default-DL dc
= A Pythia 8.308 default-MBR =R
— 1w,
= =2
= =5 O
— - O
=+ | ] | e
— —2

1
a —0.5

1 1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1

10



	Contents
	Page 1


